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ThA
FRAX WHO Fracture Risk Assessment Tool

HOME CALCULATION TOOL | PAPER CHARTS FAQ REFEREMNCES

Please answer the questions below to calculate the ten year probability of fracture with BMD .

! Country : France Name /1D : About the risk factors f?‘

Questionnaire: 10. Secondary osteoporogis - Mo Yes

Weraht Conversion _Age (hetween 40-90 years) or Date of birth 11. Alcohol 3 more units perday Mo = YES

pound: | | Age: Crate of birth: _ 12, Fernoral neck BMD

cony ert i T M| b T-score || |-1.8

- Sex hale = Female Clear Calculate

Weight (ko |55

r

Height Conversion: - Height {crm

inch : | | . Previous fracture

conwert
. Parent fractured hip

cCurrent smoking
CGlucocorticoids

. Rheumataid arthritis




Pelvis

Clinical Vertebral

Rib

Humenis

Tibia‘Fibula

Femur/Hip

Radius/UIna

Clinical/Osteoporotic
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Osteoclastogenesis Bone resorption
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SAGPA 10.ng/ml -, AGPA 100 ng/mL -

Resorption index

Control
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Lumbar spine
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= <O~ - Responders
— % - Non Responders

Change in BMD over one year

Baseline One year




aTNF+aDkk-1 ( 30mg/kg)

aDkk-1 (30 mg/kg)
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DEVENIR DES SPONDYLARTHROBATHIES INDIFFERENCIEES RECENTE
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